H £ 0l & AF & S

Al A

20248 =0ila eI S
S AITHAE
OlSE L Zalg TAlF2 =4
e WEHNel =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 1,345,048 1,745,072 400,024
Al 28,000
- 1,317,048
SE10 FAE TAIE2 &4 1,112,058 1,544,728 N432,670
Al 28,000
- 1,084,058
e dEHel =4 905,497 1,352,823 AN447,326
Al 28,000
T 877,497
S30Ae &4 45,790 93,290 A47,500
201 er23 | 6,700 8,090 21,390
01 At2teltl 6,700 8,090 21,390
Odt+=ZH| 4,460
OMA AU (SO, TAIHE, SAHE
= 2 8) 50,000& 202 1,000
OZANEAS=EE EH 7 2,500
=9 g4 7Y 150,000 x4 600
Z2d &Y 7Y 150, 0002 x345 %274 900
CE ! 7Y 250,000 #4245 x 1K 1,000
OSAESA 2 20,0002 x4 Ax 122 960
o=2g+d 2,240
OSATHY XSRS B
70,0008 %23 169 2,240
203 HR=4Y] 21,600 21,600
REESEEES 21,600 21,600
OSAITHA - 22| W XFYL =X
12,000,000 «1+0.9 10,800
OTAFNEZ L ALDEAS =7
9,000,000&1+0.9 8,100
OSANZBZH L BDSTY| LEA
3,000,000&*1=+0.9 2,700
204 AR AH 10,050 9,600 450
2 S3g =3l 10,050 9,600 450
ou2IgsHl 10,050
Oggry 50,0002 x15F12& 9,000
OAIZHHERR &D1H
50,0002 x35/40x2 B« 122 1,050
401 AlZHIZ 2018 7,440 54,000 A\46,560
01 AlZH| 7,440 54,000 A\46,560
Odti+ =S5 ME G& st MEBI(F
LENMA 2EAHE
7,440,000+ 1= 7,440
SAIHEAE 72l 66,840 63,610 3,230
201 =3 36,840 33,610 3,230




ST AT
HH: OISED A TAIRY X4
Chel: At MEHS =d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,620 1,330 290
OSHAEATE JHHIOHA Rl - 22| =2 1,620
ORUFAIBHISSYI
110,000& * 122 1,320
O8stx 4 =8 300,000& %12 300
2 352484l 35,220 32,280 2,940
OZAHHAIE B3R 30,720
Ogtetiter JHHIOH 2 2200 &JIRsS
1,800,000& *12& 21,600
OQaRIE IHHOIA & - 5+ 23
180,000& +6E 1,080
OO0l s HIDHHE! 2 2 =23
600,000& 122 7,200
OQLAE JHHIOH A 23
140,000 6 840
O AITHEAIE EHI= Xl 3,000
OO0IM0ISEotHl, JtHita S Al JX
2] 3,000,000& 1= 3,000
Ogx= e SH=
1,500,000& 1 1,500
401 Al HIYL S CHYI 30,000 30,000
01 A28l 30,000 30,000
OZAIZ2AIE R4 30,000
OF2AE 20,000,000& *1 20,000
Oogd2xrd s 10,000,000& *1 10,000
ERALICE=SHE S 3Sats 9le 833 &4 100,000 100,000
401 AIEHIL 20 100,000 100,000
01 Al&H| 100,000 100,000
OEFALIGASHE R HStts A= 3
Hel =4 100,000,000 *14] 100,000
SS1l ofF BFMEAY 380,000 380,000
401 Al HIZ R 0HbI 380,000 380,000
01 AlZ8| 378,000 378,000
OSS1 otF SBHH A
378,000,000& x14] 378,000
03 Al 20HHI 2,000 0 2,000
O=s1W o2 SZMEAIE AIL20
2,000,000 %14 2,000
SET 2E SHAIH HHESAY 100,000 100,000
401 AIEHIX 20HH 100,000 100,000
01 A28l 100,000 100,000
Oz X228 SHAH dHEZAY
100,000,000 * 14! 100,000
SYZ NS o= & Fd| 212,867 195,923 16,944
Al 28,000




ST AT
HH: OISED A TAIRY X4
Chel: At MEHS =d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 184,867
101 @1A4H| 19,836 19,836
04 JIZtN2Z2 XS 2+ 19,836 19,836
O=Sga1=8Hl oFY 19,836
OJlEZ=s 78,8803 2 052 14,988
O=s=g 78,8808 x2& x15& 2,367
Ouxt=g 78,8303 x2H+3& 474
@ZN L==h=: 2,007
-=ugs 17,826,880 *4. 5% 803
- ALEE 17,826,880 *3.545% 632
QA RAEE 631,970 %12.81% 81
VEZE 17,826,8802 *1.75% 312
ATHEE 17,826,880 * 1% 179
201 =3 14,236 16,486 A2,250
01 At22t2l] 10,729 12,979 A2,250
oget=ZH| 5,729
OMII==XIM QI 602 *3,0000H 180
OHSF A 702 +3,0000H 210
OSgZNE &8 ARSI (DRI,
S )| 150,000& *72] 1,050
OSHZ ISAEFIE EHFY
240,000 *4H 960
OSHI ISAEFTIES Zct2eld &
-8 209,000 *4H 836
O3==ol el &t ZHH
600,000 *1 600
O==A=24M M2l SZMNSF(754) 7L
2,080 *700H* 1300 = 1,893
Oos¥Zl=s EAH =8
500,000 22 1,000
©=E ] 1,920
O=sgZ s 54 & Of2tes A
8,000& x5& *44!x 123 1,920
o2g+d 1,470
OsdZnyel?dsl ?d+g
70,0008 x7H 33| 1,470
ou/=y| 610
Osga2NSHEAY 225520, s2
1) 100,000& 22 %22 400
Os¥Zl=s S5 otMgt & X
70,0002 +3% 210
02 S3=gHl 3,507 3,507 0
osE2= & HA 3,507
O=eZins 2d 282 3,507
2oteEs 4302« 1502 * 122 774
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A TAIRHA D
M O|EgD BAS TAZR XA
Chel: At MEHS =d (SH9 H2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
- SIRE= 2,5302 %9021+ 123 2,733
301 LetEEZ 108,79% 104,837 3,958
Al 8,000
- 100,79%
10 AR =RRIABHS 35,795 29,837 5,958
os=(gd) 1,250,000& «2Z =128 30,000
Oz4ldl 7,0003x22L 2+ 128 3,6%
(©ImE=t:]| 2,800 x222 x2H«12& 1,479
oul=t| 309,840 x2H 620
14 JIEI2 &3 73,000 75,000 A2,000
CEEEmERSIEIN
73,000,000 1 73,000
Al 8,000
- 65,000
401 AIEHIZL 28I 70,000 74,600 24,600
Al 20,000
- 50,000
01 Al&HI 70,000 74,600 24,600
OZ1E HAI !X L B4
20,000,000 14 20,000
o= ¥ HYPA 2HEHEN
10,000,000 1 10,000
osgZi=s 2ALIE £X 20,000
OSH3SLA(FUEAM L REOEH)
10,000,000 x14 10,000
Al 10,000
OUENSLA(FLUEMML SEHAHE)
10,000,000 14 10,000
Al 10,000
O =UXIEAAICH & D 2=
20,000,000 1 20,000
A2t 280| S2&= HHURM= 206,561 191,905 14,656
LIS M= Dts2stdEH 22 136,245 133,816 2,429
101 el H| 81,145 76,916 4,229
02 JIEtA E 77,710 0 77,710
OANZFHEERIZ DM (OHS) 77,710
(@=L 26,270,4703 2% 52,541
OAlRI2I2RE
9,620 *35A| 2H2H+ 123 8,081
O&E== 100,000& x2ZH * 12 2,400
O&EMZ A 140,000 x2ZH 123 3,360
OS2 4|
4,378,400 *84%+86%+1/30%1/7x140 A1 2+ 2,109
OXMS &I 52,540,940 4% 2,102




ST AT
H: OISEL et A3 x4
Rl AlE S30] S2& iUR8= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SREEE 52,540, 940211 .75% 920
ONZBZY| 175,002 %35/40x224» 128 3,675
OSaz2rg
4,378, 4003 »84%+40/ 355+ 122 2,522
M ORINZZ2NSE S 3,435 76,916 AT3,481
OBANAME o1 24 3,43
opI= 2,200,000 %1212 2,200
ONRIZR4g
11,1483 %1 . 5«25A1 2 x 1+ 13 419
OF A S A 140,0002 18 +1& 140
O3 204l 10,0002 183+ 1 180
Ooud EAH2H 227 , 240 x1H 1 228
@Z L=h=: 268
-=0g=s 2,367,300 *4. 5% 107
- ALEE 2,367,300 *3.545% 84
QLR 83,9303 *12.81% 1
nges 2,367, 3002 %1.75% 42
SHHES 2,367,300 * 1% 24
201 et 3| 21,500 52,000 30,500
01 At22t2l] 21,500 52,000 230,500
o=gl T2y 2949 16,000
OS82l & M=l 10,000,000& *1 10,000
OtiLIR 8= DtEs2stdE MRES 7Y
S 500,000 * 12 6,000
OIS DISIARZ HAl EE22 ME
s 5,000, 000241 5,000
OAZHIEH 2IIH ZRE AS HFAR
=g 100,000 +5& 500
301 EtE N = 33,600 4,900 28,700
14 IIEt2 83 33,600 1,000 32,600
o2 T2 23 33,600
OZAt= 150,0002 x102| x202} & 30,000
(@)=-ESEN=3 90,0003 102 x4 2} %t 3,600
HHiLIR&= AlE 2t 70,316 58,089 12,227
101 @124H| 19,836 19,349 487
M ORIMZZ2NSE S 19,836 19,349 487
OtiLIR 8= OI==23tdH 34 2RY 19,836
OJlzs 78,8803 x2& 05! 14,988
O=xs=dg 78,8802 x2& » 15 2,367
Odxt& 78,8807 x2H 3 474
O4tES 2,007
=glei= 17,827,000& *4. 5% 803
A2 17,827,000 %3.545% 632
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SA SAITHAD
Ha: OlSED A

= &gh EAIF2 X
Rl AlZE SE0| S2= HiLRY= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lol RASH 632,0002 *12.81% 81
VELE 17,827,0002 *1.75% 312
AHEE 17,827,000 * 1% 179
201 =3 50,480 38,740 11,740
01 At22t2l] 15,980 13,790 2,190
OHiLIR 8= DISE3dE Rl - 22l ==
z 12,380
ORI HAZHI 8
200,000 x 122 2,400
OsJl RANEE =2
200,000& * 122 2,400
OEA ®IIOHEY 242
200,000 122 2,400
OAYIREY 248
230,000 x 122 2,760
Odslx 34 =2 500,000& *12] 500
O&F=J| Xz 40,0002 *4CH* 122 1,920
OFAES % 22F(FX XHIISF) 7Y
200,000 * 122 2,400
ObiLIS 8= DS9S 2138l E3Y|
100,000& * 122 1,200
02 S3=gHl 34,500 24,950 9,550
(OFE=3eas) 31,800
OIS (HLRYZ OS28tdlE 2 3
) 1,600,000& «12& 19,200
OEADIA 3 700,000 * 122 8,400
O - otk 2= 200,000 * 122 2,400
Odales & ey ad MEE
150,000« 12& 1,800
OAERXII 2,000,000 1= 2,000
Ogxs tHasH= 700,000& 1 700
SAIAE THEH 30,255 8,275 21,980
SAA= &I 30,255 8,275 21,980
SAlZeHE =~ 10,255 8,275 1,980
201 Ler23 | 10,255 8,275 1,980
01 AtR2t2ltl 10,255 8,275 1,980
ER=lestS ]l 7,455
OFAAH2EA MESIE
55, 000& »3&H«8em2 4 AH23] 5,280
OEAAHEE R el EHPY 1,875
=9 EY 165,000 *3H 495
Z2d &Y 230,000 x3 25274 1,380
OFAAHE 2 =N FE
30,0003 * 10 300
ozg=g 2,800




2A:

S AIRH A4 D

M TAIAE THEHI
=Rl TAIAIEHESI ESR=ED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EEEEEEES]
100,000 x 142 +23] 2,800
PISAIAES &elist 20,000 20,000
201 er=23y| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
OWIS AIAE St =9
20,000,000 *14! 20,000
HY2EIHI(SAIT D) 192,735 182,069 10,666
el 2| 124,041 119,038 5,003
ks 124,041 119,038 5,003
101 @124H| 119,710 114,810 4,900
01 2= 81,230 78,038 3,192
OAt222+E 81,230
O52 () 14,6923 x3BA| 2+ 1H* 122 6.171
O6= 12,5313 *x3BA 25« 123 26,316
Oors 11,3192 +30A1 27 H* 128 33,278
O8= 10, 1623 x35AI 2H2E+ 123 8,537
O9%= 9,620 x35AI 2Hx 1123 4,041
OX<IH&HI 72,172,000 *4% 2,887
03 SR (RINHA) 222+ 38,480 36,772 1,708
Oo=sgZl= 2FY 38,480
OJl==(6588) 1,878,000 x1&x 12 22,536
OF={}=, 1,878,000 12 %240f% 4,508
OF A S A 140,0002 x1&* 122 1,680
OusS2xH| 120,000& x 1= 123 1,440
OgESIt| 1,878,000 * 12 %120% 2,2%4
OAIZRIZ2RE
12,027 2 x150%+20 A1 2t x 122 4,330
OgXFIH==E 12,027 3 *8A1 218 1,732
WM HSEE=S 4,331 4,228 103
4 R (RIHA)22N BEERES S 4,331 4,228 103
OSRA(RI|HA) 22X =2Hz) |2 2
g3 38,479,000& 18 +4.5% 1,732
OBRH (VA )22 2eALEES 1,540
O=UABESEZ
38,479,000 + 12 +3.545% 1,365
O QLEEZ
1,365,000 x1H*12.81% 175
O3RH(RIIA)2E2X NSEHRLS
38,479,000 x 12 *1.75% 674
OSRA(RINHA)ZZ2 X MATHHNEE =
38,479,000 *1& %1% 385
=&h| 68,694 63,031 5,663
Jl=2&H] 68,694 63,031 5,663




2A:

S AIRH A4 D

A HYRAZHI(ZAIHALL)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 13,044 13,201 A157
01 At2teltl 12,840 12,420 420
oL+ 4,680
O=M2gL8Y
(25,0002 %178 +122)+0.8 4,080
O&F=D| U= 50,000& * 122 600
o=l 8,160
OS2s4ll| 8,0003 x 172 +5A!x 12 8,160
02 S3=gl 204 781 aN-Y/4
03&R= 204
OoRERs 204
aoteEs 4303+ 102 * 122 52
SeuEg 2,530 x5+ 12 152
202 04l 43,920 41,760 2,160
01 =LHOHI 36,720 34,560 2,160
OgF=AN 36,720
OJ 28280l
180,000 x 17+ 122 36,720
02 XN 7,200 7,200 0
O=g&l= s A0
200,000& «2H*12& 4,800
O3RH(RIIAH) 22X SHAHLI(FN)
200,000« 1H*12& 2,400
203 =4l 6,900 6,900
01 1228 RFa| 3,300 3,300
Ol |22 Y= 3,300,000& 1= 3,300
M EASHLRFAH 3,600 3,600 0
ORNESgER=AHI 300,000& * 122 3,600
405 AHatE = 4,830 1,170 3,660
01 MMM ESFSHI 4,830 1,170 3,660
Osg&i= == UXE Jtolct 2
620,000 *1CH 620
OtiLIFd8= OtEs2=dH EX=AD| 2
4,210,000 = 1CH 4,210
Hees0=g:) 10,000 10,000 0
WA K& 10,000 10,000 0
ISEES 10,000 10,000 0
@RJIsdEs 10,000 10,000 0
01 JIsdEsS 10,000 10,000 0
o= eI s HES
10,000,000& 10,000




